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CTI RP #5000
CTI Port #5501 #1001 #1008
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CUE CUCM

Calto VM Piot# 500 m

Redirect to #5501

|
Call Connected — VM Greeting playing to caller
1
Y Colerdscomecis aftreavig amessage

Caller disconnects after leaving a message

R

I 1
. | I
MW “On” for #1001
: am “On” signa] :

DN(Directory Number) 10052| /& AFEXI= DN 10012 AI&3510 AFEXIE ZE & LICHLS37}
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no trace all



trace ccn SubsystemJtapi all

Ol BHo| Y IR=X] HQlstt{™ CFS B S UM LICH

CUE# show trace
MODULE ENTI TY SETTI NG
ccn Subsystemltapi ffffffff

g2 +Ts2R O3 THe YALIC

CUE# show trace buffer ?

containing Only display events matching a regex pattern
| ong Show | ong for mat

short Show short for mat

tail Wait for events and print themas they occur !!

CTRL-CE =sto{ &0 CiEh Az 2Z & SXIFLICH

JTAPICCN & 21

2371 YRI5 JTAPI CCN =X 218 &M35lst ¥ CUE ZEE ClA| Z=3lof &Lt ol

8t 27, messages.log & atrace.log= O A MISHAHLE &5 3}
st MEE MBELICLOHS D 22 U 7kx| 237 YUt

- atrace.log

¥+ o B o RYstD A

NM(Network Module)oi| A 72X o 2 &3t [ X|BF AIM(Advanced Integration Module)0d| A
£ 7I2M2 2 HIZ Y3t r|o] J&LICH #/d3tetEdH log trace local enable BEE 247 LICt

2Z £ = FTP AMuqoll =[CH 10Mb2| T|O|E{E Z7|& &fL|Ct.

23 E CtA| Al 5tE4H™ log trace

local disable & 5= = no log trace local enable B2 238FL|CH. O3 CFHZ log trace local
enable B c.’=!E'.°.=.*I—IIZF.atrace.IogE K| 4™ clear trace file &2 /= &rLICt.CIO|E{=
TAC(Technical Assistance Center)0|A C|Z &3l oF &FL|C}

HAIX.2

Info(H &), Warning(@11), Error(2 %), Fatal(X|&8™) S92/ Syslog HIA|X|7} & E 2 IL|CtH

. Clscthap|1 log 2! CiscoJtapi2.log

DE JTAPI 23 M5 S o|HEE 7|SELICtolget 2O W H &AH olsiE =
02 | & L|C} Ciscoltapi2.logE CiscoJtapit.logZ7b 2 xF7{LF 1 BHCHZ & K|H
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A
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S °|'0:1 EE

CUE#(CONFI G > | og console info !
ccn trace jtapi deb all

ccn trace jtapi info all

ccn trace jtapi warn all

log trace boot

rel oad
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ok

CUE# show ccn trace jtapi
War ni ng:

A

ASH
A EL

7|8 &= e =2 sotzLict.olg{Et
2U2{sor EfLICECHS BHEE Al

i
o=

Felsted™ ChE BYES UL



I nformational :

Jt api Debuggi ng:
Jtapi | nplenmentation:
CTl Debuggi ng:

CTl | npl enentation:
Pr ot ocol Debuggi ng:
M sc Debuggi ng:
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copy log Ciscodtapi2.1og url ftp://usernane: password@92. 168. 105. 1/
copy log G scodtapil.log url ftp://usernane: password@92. 168. 105. 1/
copy | og nessages.log url ftp://usernane: password@92. 168. 105. 1/
copy log atrace.log url ftp://usernane: password@92. 168. 105. 1/

show log name <logname> F& 2 At835t0{ CUE E{O'd ZLIE{0| 238 EAIELCHLHE ™
CtSot Z&Lch

CUE# show log name messages.log ?

containing Only display events matching a regex pattern
paged Display in page node

tail Wait for events and print themas they occur

<Cr>

atrace.log= 13 2 E LICHIH2FA show log name BHE S A8 350 MA|IZIS 2 EAIE = gL
Ct.
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SAECTI MHIA MSYUA .8 T2 SSALE Po{ CTI MMS A-ELICEH
MEXEolEE[7H0|M2 ALE At 1A FELICH
#x|:cucMof S&3t= ExILICH.

&:CTI X| ¢ C|HFO|A 2| DN EA|
& & ID(callLegID): S5t 2| 3t &3} oi| 12t HZEE[R&LICH
=24 &8} (calllD):HY S3tol| Clist 2 E &3 Al

et CTI S& A EH

state = 1 | DLE
state = 2 OFFERI NG

state = 3 ACCEPTED

state = 8 CONNECTED

ZH 202

X E AE Ml 27| ™ol HY HEXel 23S HEfolMd of &l& Me2|7t ofEH EAIZ=X] &
OtOF ErL|Ch.I2tA O Mol M= o] AILPEIP_ONH HeHoz 5ssts A3 &3 UFE £ 0
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ASE ATaeolde| MF HEE Chent Z&Lich

Jtapi User: tacj t api user
CUCM | P Address: 192.168.100. 10

CUE CTl Route Point: cue_vmctirp

CUE CTI Port: cue_ctiportl

CUE and Phone Partition: cue_pt

| P Phone MAC. SEP0023331C29EC

CTl Route Point DN 8000

CTl Port DN: 8501

I P Phone DN: 3001

CTIRPU ZE 55§
(CiscoJtapi1/Cisco JTAPI2 219| &)

1. 3% 64 &I



ProviderQpenReques

L 4

FroviderOpenCompletedEvent

FrovicgeretCapabilimes Request

roviderGetCapabilities Response

v

-

un o e - . S .
ovigerL-apabilitiesinio

21: 12:05:23.686 CST %WTAPI - CTI | MPL-7- UNK. (P1-tacjtapiuser) ProviderlD =

P1-tacjtapi user

22: 12:05:23.739 CST %WTAPI - CTI | MPL- 7- UNK. (P1-tacjtapi user) Trying to

create normal socket connection to 192.168.100.10

23: 12:05:23.747 CST %TAPI - CTI | MPL- 7- UNK. (P1-t acj t api user) connected

26: 12:05:24.112 CST %TAPI - PROTOCOL- 7- UNK. ( P1-192. 168. 100. 10)
sending: com Ci Sco. cti.protocol . ProviderOpenRequest {
provider = 192.168.100.10

gbed i entVersion = Cisco JTAPI 7.0(1.1000)-1 Rel ease
login = comcisco.cti.protocol. UnicodeString {

uni codedi spl ayNane = tacjtapiuser

}

applicationlD = Cisco IP IVR

desiredServer Heartbeat Time = 30

pl ugi nName = Ci scoJTAPI

}

28: 12:05:24.131 CST %TAPI - PROTOCOL- 7- UNK. ( P1-192. 168. 100. 10)
Response: com ci sco. cti.protocol . ProviderOpenResponse {
sequenceNunber = 0

result =0

providerlnfoString = 7.1.5.10000-12

clientHeartbeat = 30

server Heartbeat = 30

pl ugi nVersion = 7.1.5.10000-2

pl ugi nLocation = http://192. 168. 100. 10/ pl ugi ns/
providerld = 16777236

}

[SS TEL_INIT]

received

35: 12:05:24. 858 CST %WTAPI - PROTOCOL- 7- UNK. ( P1-192. 168. 100. 10) received

Event: com cisco.cti.protocol.ProviderOpenCompletedEvent {
event Sequence = 0

reason = 0

providerlnfoString = 7.1.5.10000-12

clientHeartbeat = 30

server Heartbeat = 30

failureDescription = nul

providerld = 16777236

}

2. Mo 7t =8t Cldto|&of CHEr 2|



48:

roviderGetDevicelnfoHegqueast

ProviderGetDevicelnfoResponse

GetDevicelnfoFetchRequest

GetDevicelnfoFetchResponse

L )

R T Y P o p——
LJTIJthun'W-fL UsesinNize

etDevicelnfoCloseResponse

W

12: 05: 24. 864 CST %TAPI - PROTOCOL- 7- UNK. ( P1-192. 168. 100. 10)

sending: com cCi sco. cti.protocol . ProviderGetDeviceInfoRequest {

sequ
devi
}
49:
Resp
sequ
resu

}
50:

enceNunber = 2
ceGoup =
12: 05: 24. 865 CST % TAPI - PROTOCOL- 7- UNK. (P1-192. 168. 100. 10)

[SS TEL_INIT]

received

onse: com ci sco. cti.protocol . ProviderGetDeviceInfoResponse {

enceNunber = 2
It =0

12: 05: 24. 865 CST %TAPI - PROTOCOL- 7- UNK. ( P1-192. 168. 100. 10)

sending: com Ci ScO. cti.protocol . GetDeviceInfoFetchRequest {

sequ
}
51:
Resp
sequ
resu
info

enceNunber = 3

12: 05: 25. 011 CST %TAPI - PROTOCOL- 7- UNK. ( P1-192. 168. 100. 10)

onse: com ci sco.cti.protocol.GetDeviceInfoFetchResponse {
enceNunmber = 3

It =0

:2@

com ci sco. cti.protocol . DeviceInfo {

name

type

= cue_ctiportl

al | owsRegi stration = true
devicel D = 62
devTypeNane = CTl Port

b

com ci sco. cti.protocol . DeviceInfo {

name

type

= cue_vm_ctirp

al | owsRegi stration = true
devicel D = 61
devTypeNanme = CTl Route Point

}
52:

send

12: 05: 25. 012 CST % TAPI - PROTOCOL- 7- UNK. ( P1-192. 168. 100. 10)
ing: com ci sco.cti.protocol.GetDeviceInfoCloseRequest {

sequenceNunber = 4

}
53:

rece

}
54:

12: 05: 25. 013 CST %TAPI - PROTOCOL- 7- UNK. ( P1-192. 168. 100. 10)

[SS TEL_INIT]

received

[SS TEL_INIT]

ived Response: COmM Ci SCO.cti.protocol. GetDeviceInfoCloseResponse {
sequenceNunber = 4

12: 05: 25. 013 CST %WTAPI - M SC- 7- UNK. ( P1-192. 168. 100. 10)



creating controlled devices

3.CTI ZE 2tel HH 7[x{2 7|

FroviderGetDevicel nfoRequest

ProviderGetDevicelnfoResponse

GetDevicelnfoFetchRequest

L )

GetDevicelnfoFetchResponse

|5

W

55: 12:05:25.024 CST %TAPI - PROTOCOL- 7- UNK. (P1-192. 168. 100. 10) [SS_TEL_I NI T]
sending: com Ci Sco. cti.protocol . DeviceGetLineInfoRequest {

sequenceNunber = 5

devi ceName = cue_ctiportl

}

56: 12:05:25.026 CST %TAPI - PROTOCOL- 7- UNK. ( P1-192. 168. 100. 10)

received Response: com cisco.cti.protocol . DeviceGetLineInfoResponse {
sequenceNunber = 5

result =0

}

57: 12:05:25.026 CST %TAPI - PROTOCOL- 7- UNK. (P1-192. 168. 100. 10) [SS_TEL_I NI T]
sending: com Ci Sco. cti.protocol . GetLineInfoFetchRequest {

sequenceNunber = 6

}

58: 12:05:25.029 CST %TAPI - PROTOCOL- 7- UNK. ( P1-192. 168. 100. 10)

received Response: com cisco.cti.protocol.GetLineInfoFetchResponse {
sequenceNunber = 6

result =0

com ci sco. cti.protocol . LineInfo {

name = 8501

di spl ayName =

maxNunberOfCalls = 4

linelnstance = 1

uni codeDi spl ayNane = com ci sco. cti.protocol.UnicodeString {

}

partition = cue_pt

defaul tl nterconfargetlnfo = comci sco. cti.protocol.LinelnterconSpeedDi al | nfo {
}H

59: 12:05:25.029 CST %TAPI - PROTOCOL- 7- UNK. (P1-192. 168. 100. 10) [SS_TEL_I NI T]
sending: com Ci Sco. cti.protocol . GetLineInfoCloseRequest {

sequenceNunber = 7

}

60: 12:05:25.031 CST %TAPI - PROTOCOL- 7- UNK. ( P1-192. 168. 100. 10)

received Response: com cisco.cti.protocol.GetLineInfoCloseResponse {
sequenceNunber = 7

result =0

}

61: 12:05:25.042 CST %TAPI - CTI - 7- UNK. (P1-t acj t api user)

DeviceMap: adding device "cue_ctiportl"



4.CTIRP 2}l HE A7|
62: 12:05:25.043 CST %TAPI - PROTOCOL- 7- UNK. (P1-192. 168. 100. 10) [SS _TEL_I NI T]
sending: com Ci sco. cti.protocol . DeviceGetLineInfoRequest {
sequenceNunber = 8
devi ceName = cue_vmctirp
}
63: 12:05:25.044 CST %TAPI - PROTOCOL- 7- UNK. ( P1-192. 168. 100. 10)
received Response: com cisco.cti.protocol . DeviceGetLineInfoResponse {
sequenceNunber = 8
result =0
}
64: 12:05:25.045 CST %TAPI - PROTOCOL- 7- UNK. (P1-192. 168. 100. 10) [SS_TEL_I NI T]
sending: com ci sco. cti.protocol. GetLineInfoFetchRequest {
sequenceNunber = 9
}
65: 12:05:25.047 CST %TAPI - PROTOCOL- 7- UNK. ( P1-192. 168. 100. 10)
received Response: com cisco.cti.protocol.GetLineInfoFetchResponse {
sequenceNunber = 9
result =0

info = 1@

com ci sco. cti.protocol.Linelnfo {
name = 8000
di spl ayNanme =

per manent Li nel D = 52

partition = cue_pt

defaul tl nterconfarget I nfo = com ci sco. cti.protocol.Linelntercontpeedb al I nfo {
uni codelLabel = com cisco.cti.protocol. UnicodeString {

}

}
66: 12:05:25.048 CST %TAPI - PROTOCOL- 7- UNK. ( P1-192. 168. 100. 10) [SS_TEL_I NI T]

sending: com ci sco. cti.protocol . GetLineInfoCloseRequest {
sequenceNunber = 10

}

67: 12:05:25.058 CST %TAPI - PROTOCOL- 7- UNK. ( P1-192. 168. 100. 10)
received Response: com cisco.cti.protocol.GetLineInfoCloseResponse {
sequenceNunber = 10

result =0

}

68: 12:05:25.059 CST %WTAPI - CTI - 7- UNK. (P1-tacj t api user)
DeviceMap: adding device "cue_vm_ctirp"

69: 12:05:25.059 CST %WTAPI - CTI - 7- UNK. (P1-192. 168. 100. 10)
refreshi ng device map: previous=0 current=2 created=2 renoved=0

5. CUE7} ==4lE HI|agoldE HEEfLict.
76: 12:05:25.064 CST %TAPI -M SC-7- UNK. Provi der 192.168. 100. 10
open, beginning device
initialization
77: 12:05:25.071 CST Y%WTAPI - JTAPI - 7- UNK. (P1-tacjtapi user)[SS_TEL_I NI T]
(Pl-tacjtapiuser) Request: addCbserver
79: 12:05:25.073 CST %TAPI - M SC- 7- UNK. Qbser ver Thr ead
(com ci sco. WM. subsystens. jtapi.SubsystemITAPI $Provi der Cbser ver @d823d82) : cr eat ed
80: 12: 05: 25. 074 CST % TAPI - JTAPI - 7- UNK. (P1-tacj t api user) ProvOut O Servi ceEv [ #0]
Cause: 100 Cal | Ct| Cause: 0 Ci scoFeat ureReason: 12
82: 12:05:25.085 CST %WTAPI -M SC-7-
UNK. OGbser ver Thr ead
(com cisco. W . subsystens. jtapi.SubsystemITAPI $Pr ovi der Gbser ver @d823d82) :
queui ng com ci sco. jtapi.Jtapi Provi der Event Set
83: 12:05:25.084 CST %TAPI - M SC- 7- UNK. (P1-192. 168. 100. 10)
Provi der RetryThread starting up
85: 12:05:25.084 CST %TAPI - M SC- 7- UNK. Qbser ver Thr ead
(com ci sco. W . subsystens. jtapi.SubsystemITAPI $Provi der Gbser ver @d823d82)
starting up...
90: 12:05:25.102 CST %TAPI - JTAPI | MPL-7- UNK. Partition Support 8000 in
partitioncue_pt



91: 12:05:25.102 CST %TAPI - JTAPI | MPL- 7- UNK. (P1-t acjtapi user) cue_vm ctirp:
Address: 8000 in partitioncue_pt created

92: 12:05:25.102 CST %TAPI - JTAPI | MPL-7- UNK. Partition Internal Address Added
8000 in Partition cue_pt

93: 12:05:25.102 CST %TAPI - JTAPI | MPL- 7- UNK. Partition Support 8501 in
partitioncue_pt

94: 12:05:25.103 CST %TAPI - JTAPI | MPL- 7- UNK. (P1-t acjtapi user) cue_ctiportl:
Address: 8501 in partitioncue_pt created

95: 12:05:25.103 CST %TAPI - JTAPI | MPL-7- UNK. Partition Internal Address Added
8501 in Partition cue_pt

96: 12:05:25.103 CST %WTAPI - M SC-7- UNK. Provi der "(Pl-tacjtapiuser)" changing
state to IN_SERVICE

97: 12:05:25.103 CST %WTAPI - JTAPI - 7- UNK. (P1-t acj t api user) [ Thr ead- 76]
(P1-tacjtapiuser) Request: getObservers

98: 12:05:25.103 CST %WTAPI - JTAPI - 7- UNK. (P1-tacj tapi user) ProvlnServiceEv [#1]
Cause: 100 Cal I Ct| Cause: 0 Ci scoFeat ur eReason: 12

100: 12:05:25.103 CST %TAPI - M SC- 7- UNK. Gbser ver Thr ead

(com ci sco. wf. subsyst enms. j t api . Subsyst emJTAPI $Pr ovi der Chser ver @d823d82) :
queui ng com ci sco. jtapi.Jtapi Provi der Event Set

101: 12:05:25.103 CST %WTAPI - JTAPI | MPL- 7- UNK. Provi der 192.168. 100. 10
initialized 2 devices

104: 12:05:25.104 CST %TAPI - JTAPI | MPL- 7- UNK:

[com ci sco. wWf. subsystens. jtapi.Subsyst emITAPI $Provi der Cbser ver @d823d82]
delivering to provi der ChangedEvent

106: 12:05:25.523 CST %TAPI - JTAPI - 7- UNK. (P1-t acj t api user) [ SS_TEL_|I NI T]
(Pl-tacjtapiuser) Request: getAddress( 8501 )Partition = cue_pt

107: 12:05:25.526 CST %TAPI - JTAPI - 7- UNK. (P1-t acj t api user) [ SS_TEL_|I NI T]
[cue_ctiport 1] Request: addObserver

(com ci sco. wf. subsyst ens. j t api . TAPI Por t Gr oup$Por t $Addr essCal | Cbser ver @d085d08)
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109: 12:05:25.528 CST %TAPI - PROTOCOL- 7- UNK. (P1-192. 168. 100. 10) [SS_TEL_I NI T]
sending:

com ci sco. cti . protocol . DeviceOpenRequest {

devi ceNanme = cue_ctiportl

}

110: 12:05:25.533 CST %TAPI - PROTOCOL- 7- UNK. ( P1-192. 168. 100. 10)

received Response:

com ci sco. cti . protocol . DeviceOpenResponse {

result =0

}

111: 12:05:25.533 CST %TAPI - CTl - 7- UNK. (P1-tacjtapi user) DeviceMap: opening
device "cue_ctiportl"

112: 12:05:25.533 CST %TAPI - JTAPI | MPL- 7- UNK. ( P1-tacjtapi user) Term nal
"cue_ctiportl" out of service

113: 12:05:25.534 CST %TAPI - JTAPI - 7- UNK. (P1-tacjtapiuser) [cue_ctiport1l]

Ci scoTer mout O Servi ceEv [#2] Cause: 100 Cal | Ct| Cause: 0 Ci scoFeat ureReason: 12
119: 12:05: 25.544 CST %TAPI - JTAPI | MPL- 7- UNK: Addr ess [cue_cti port 1: 8501:
cue_pt.(0,0)] out of service

120: 12:05: 25.544 CST %TAPI - JTAPI - 7- UNK. (P1-t acj tapi user) [8501: cue_pt]

Ci scoAddr Qut OF Servi ceEv [#3] Cause: 100 Cal | Ct| Cause: 0 Ci scoFeat ureReason: 12
121: 12:05:25.546 CST %TAPI - PROTOCOL- 7- UNK. (P1-192. 168. 100. 10) [SS_TEL_I NI T]
sending: com Ci Sco. cti . protocol . LineOpenRequest {

deviceName = cue_ctiportl
lineName = 8501
}

122: 12:05:25.582 CST %TAPI - PROTOCOL- 7- UNK. (P1-192. 168. 100. 10) received
Response: com ci sco. cti.protocol . LineOpenResponse {

134: 12:05:25.670 CST %TAPI - PROTOCCL- 7- UNK. ( P1-192. 168. 100. 10) [SS_TEL_INT]
sending: com Ci Sco. cti.protocol . LineCloseRequest {

135: 12:05:25.673 CST %TAPI - PROTOCOL- 7- UNK. (P1-192. 168. 100. 10) received
Response: com ci sco. cti.protocol . LineCloseResponse {

138: 12:05:25.674 CST %TAPI - PROTOCCL- 7- UNK. ( P1-192. 168. 100. 10) [SS_TEL_INT]
sending: com cCi Sco. cti.protocol . DeviceCloseRequest {

139: 12:05:25.681 CST %TAPI - PROTOCOL- 7- UNK. (P1-192. 168. 100. 10) received
Response: com ci sco. cti.protocol . DeviceCloseResponse {

141: 12:05:25.683 CST %TAPI - PROTOCCL- 7- UNK. ( P1-192. 168. 100. 10) [SS_TEL_INT]
sending: com ci sco. cti.protocol . DeviceRegisterDeviceRequest {

devi ceName = cue_ctiportl

142: 12:05:25. 687 CST %TAPI - PROTOCOL- 7- UNK. (P1-192. 168. 100. 10) received
Response: com ci sco. cti . protocol . DeviceRegisterDeviceResponse {

result =0

name = cue_ctiportl
al | owsRegi stration = true
}

143: 12:05:25.687 CST %TAPI - CTl - 7- UNK. (P1-tacjtapi user) DeviceMap: opening
device "cue_ctiportl"

150: 12:05:25.688 CST %TAPI - PROTOCCL- 7- UNK. ( P1-192. 168. 100. 10) [SS_TEL_INT]
sending: com Ci Sco. cti . protocol . LineOpenRequest {

devi ceName = cue_ctiportl

Ii neNane = 8501

151: 12:05:25.690 CST %TAPI - PROTOCOL- 7- UNK. (P1-192. 168. 100. 10) received
Response: com ci sco. cti . protocol . LineOpenResponse {

152: 12:05:25.691 CST %TAPI - JTAPI | MPL- 7- UNK: cue_cti portl: Lines opened

153: 12:05:25.739 CST %TAPI - PROTOCOL- 7- UNK. (P1-192. 168. 100. 10) received
Event: com cisco. cti.protocol . DeviceRegisteredEvent {

devi celnfo = comcisco.cti.protocol.Devicelnfo {

al | onsRegi stration = true

controllable = true

}

156: 12:05:25.739 CST %TAPI - PROTOCOL- 7- UNK. ( P1-192. 168. 100. 10) Recei ved
Devi ceRegi st er edEvent

160: 12:05:25.740 CST %TAPI - PROTOCOL- 7- UNK. (P1-192. 168. 100. 10) received
Event: com cisco.cti.protocol . DeviceInServiceEvent {

162: 12:05:25.741 CST %TAPI - PROTOCOL- 7- UNK. (P1-192. 168. 100. 10) received



Event: com cisco.cti.protocol.LineInServiceEvent {

}
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12: 46: 00. 396 CST % TAPI - PROTOCOL- 7- UNK. (P1-192. 168. 100. 10) received Event:
com ci sco. cti.protocol . NewCallEvent {

deviceName = cue_vm_ctirp

callLegID = 25626132

callID = 9040

callingParty = 3001

calledParty = 8000

cal lingPartyNane = Ext 3001 - Phone

cal li ngPartyDevi ceName = SEP0023331C29EC

unhbdi fi edCal | edParty = 8000

unhbdi fi edOrigi nal Cal | edParty = 8000

unMbdi fi edLast Redi rectingParty =

}

12: 46: 00. 400 CST % TAPI - PROTOCOL- 7- UNK. (P1-192. 168. 100. 10) received Event:
com ci sco. cti.protocol.callstateChangedEvent {

cal | Legl D = 25626132

state = 2



reason =1

}

12: 46: 00. 402 CST %WTAPI - CTl - 7- UNK. ( P1-t acj t api user) {Li ne: cue_vm ctirp: 8000:
cue_pt. (1, 28)

| Call: [ GCl D=

(9040/ 1), CI D=25626132] } NewCall [ state=OFFERING auxData=1 dest CMFl dest Type=

I N_CLUSTER unMbdi fi edCg=3001

unhbdi fi edCd=8000 unhbdi fi edOri gi nal Cd=8000 unMbdi fi edLast Redi rect ed= cal | i ng=3001
cal I i ngNane=Ext 3001 -

Phone cal | ed=8000 cal | edNanme= ori gParty=8000 ori gName= | ast Redi rect ed=

| ast Redi rect edNane= ori gi n=I NBOUNDI NTERNAL r eason=DlI RECTCALL activeTone=0

devi ceName=cue_vm ctirp bRenotel nUse=fal se bPrivacy=fal se Call Sel ect St at us=0

Cal I i ngPartyPl =True Cal |l i ngPartyDi spl ayNanePl =True Cal | edPartyPl =Tr ue

Cal | edPart yDi spl ayNanePl =True Ori gi nal Cal | edPartyPl =Tr ue]

12: 46: 00. 424 CST %TAPI - JTAPI | MPL- 7- UNK: { (P1-t acj t api user) GCl D=( 1, 9040) - >ACTI VE}
Initializing to OFFERING for 8000:cue_pt Cause=CAUSE_NORMAL Reason= 1

12: 46: 00. 424 CST %W TAPI - JTAPI - 7- UNK: [ [ 3001: cue_pt/ (P1-tacjtapiuser) GCl D=

(1, 9040) - >ACTI VE] - > DLE] creati ng external connection for 3001: cue_pt

12: 46: 00. 424 CST %TAPI - JTAPI - 7- UNK: { CcnCal | =Cal | : [ GCl D=( 9040/ 1), Cl D=25626132]
Connect i on=[ 3001: cue_pt/ (P1-tacjtapiuser) GClD=(1, 9040)->ACTI VE] - >l DLE: creating
new Connection for CCNCall }

12: 46: 00. 425 CST %W TAPI - JTAPI - 7- UNK: [ 9040/ 1] Cal | I npl . del i ver Events(): for all

1 observers

12: 46: 00. 430 CST % TAPI - JTAPI - 7- UNK. (P1-tacjtapi user)[SS TEL_ROUTE_CALL_EV][[
8000: cue_pt/ (P1l-tacjtapiuser) GCl D=(1,9040)->ACTI VE] - >OFFERED] Request: redirect
(8501, REDI RECT_NORVAL, DEFAULT_SEARCH SPACE, CALLED ADDRESS UNCHANGED,

REDI RECT, 8501, nul |, REDI RECT_W THOUT_MODI FI ED_CALLI NG_PARTY, 1)

12: 46: 00. 430 CST % TAPI - PROTOCOL- 7- UNK. (P1-192. 168. 100. 10)

[ SS TEL_ROUTE_CALL_EV] sending: com ci Sco. cti.protocol.callRedirectRequest {

callLegID = 25626132
redirectAddress = 8501
uncondi tional = fal se

redi rect Reason = 0
preferredOiginal Cal | edParty = 8501

}
CTI ZEoi clet M S8t

12: 46: 00. 460 % TAPI - PROTOCOL- 7- UNK. ( P1-192. 168. 100. 10) received
Event: com cisco. cti.protocol . NewCallEvent {

deviceName = cue_ctiportl

callLegID = 25626133

callID = 9040

callingParty = 3001

call edParty = 8501

original Call edParty = 8000

reason = 6

| ast Redi rectingParty = 8000

cal | i ngPartyDevi ceNane = SEP0023331C29EC

}

12: 46: 00. 463 %TAPI - PROTOCOL- 7- UNK. ( P1-192. 168. 100. 10) received
Event: com cisco.cti.protocol.callStateChangedEvent {

cal | Legl D = 25626133

state = 2

}

12: 46: 00. 464 %TAPI - PROTOCOL- 7- UNK. ( P1-192. 168. 100. 10) received
Response: com ci sco. cti.protocol.callRedirectResponse {

result =0

}

12: 46: 00. 468 %TAPI - PROTOCOL- 7- UNK. ( P1-192. 168. 100. 10) received
Event: com cisco.cti.protocol.callStateChangedEvent {

cal | Legl D = 25626132

state =1



f ar Endpoi nt Specified = true

fwdDest i nati onAddress =

reason = 68501

callingParty = 3001

cal l i ngPartyName = Ext 3001 - Phone

cal l edParty = 8000 }

12: 46: 00. 481 %TAPI - JTAPI | MPL- 7- UNK: { ( P1-t acj t api user) GCl D=(1, 9040) - >ACTI| VE}
Initializing to OFFERI NG for 8501: cue_pt Cause=CAUSE_REDIRECTED Reason= 6

12: 46: 00. 481 %TAPI - JTAPI | MPL- 7- UNK: { ( P1-t acj t api user) GCl D=(1, 9040) - >ACTI| VE}
Received a redirected call -- |astRedAddress is 8000

12: 46: 00. 487 % TAPI - CTl - 7- UNK. (P1-t acj t api user) {Li ne: cue_cti port1: 8501: cue_pt.
(1,24)|Call:[GCl D=(9040/1), Cl D=25626133] } Cal | St at eChanged [ state=OFFERING
cause=NOERROR]

12: 46: 00. 489 % TAPI - CTl - 7- UNK. (P1-t acj t api user) {Li ne: cue_vm ctirp: 8000: cue_pt.
(1,28)| Call:[GCl D=(9040/ 1), Cl D=25626132]} Cal | St at eChanged [ state=IDLE cause=
NOERRCR dest Type=I N_CLUSTER dest CM=1 fwdDesti nati on=8501]

CTI ZEo|M 2|C|=|MEl &8 =5

12: 46: 00. 490 %TAPI - JTAPI - 7- UNK. (P1-t acj t api user) [ SS_TEL_CALL_CONN_OFFERED: 8501]
[[8501: cue_pt/ (P1-tacjtapiuser) GClD=(1, 9040) - >ACTI VE] - >OFFERED] Request : accept ()
12: 46: 00. 491 %TAPI - PROTOCOL- 7- UNK. ( P1-192. 168. 100. 10) [SS_TEL_CALL_
CONN_COFFERED: 8501] sending: com ci sco.cti.protocol.callAcceptRequest {
callLegID = 25626133

}

12: 46: 00. 495 %TAPI - PROTOCOL- 7- UNK. ( P1-192. 168. 100. 10) received Response:

com ci sco. cti.protocol.callAcceptResponse {

result =0

}

12: 46: 00. 498 %TAPI - PROTOCOL- 7- UNK. ( P1-192. 168. 100. 10) received Event:

com ci sco. cti.protocol . callStateChangedEvent {

callLegID = 25626133

state = 3

12: 46: 00. 499 % TAPI - CTl - 7- UNK. (P1-t acj t api user) {Li ne: cue_cti port1: 8501: cue_pt.
(1,24)|Call:[GClD=(9040/1), Cl D=25626133] } Cal | St at eChanged [ stat e=ACCEPTED
cause=NOERROR]

12: 46: 00. 502 % TAPI - JTAPI | MPL- 7- UNK. (P1-t acjtapi user) Term nal "cue_ctiportl”
in service

12: 46: 00. 503 %TAPI - JTAPI | MPL- 7- UNK: { ( P1-tacj t api user) GCl D=(1, 9040) - >ACTI VE}
Handl i ng

Ext ernal STATE_RI NGBACK for 3001: cue_pt

12:46: 00. 517 %TAPI - PROTOCOL- 7- UNK. ( P1-192. 168. 100. 10)

[ ENG_TASK: 0x98bca5a08_voi cebr owser . aef] sending:

com ci sco. cti . protocol . callAnswerRequest {

cal | Legl D = 25626133

}

12: 46: 00. 522 %TAPI - PROTOCOL- 7- UNK. ( P1-192. 168. 100. 10) received Response:

com ci sco. cti.protocol . callAnswerResponse {

result =0

}

12: 46: 00. 530 % TAPI - PROTOCOL- 7- UNK. ( P1-192. 168. 100. 10) received Event:

com ci sco. cti.protocol . callstateChangedEvent {

callLegID = 25626133

state = 8

Oiciol HY



DeviceCallOpenLogicalChannelEvent

DeviceSetRTPForCallRequest

DeviceSetRTPForCallResponse

StartReceptionEvent

StartTransmissionkEvent

12: 46: 00. 531 % TAPI - PROTOCOL- 7- UNK. ( P1-192. 168. 100. 10) received Event:
com ci sco. cti.protocol . DeviceCallOpenLogicalChannelEvent {

callLegID = 25626133

compressionType = 4

}

12: 46: 00. 531 %TAPI - CTI - 7- UNK. (P1-tacjt api user){Li ne: cue_ctiport1: 8501
cue_pt.(1,24)]Call:[ GCl D=(9040/ 1), Cl D=25626133]} Cal | St at eChanged

[ stat e=CONNECTED cause=NOERRCR]

12: 46: 00. 537 Y% TAPI - JTAPI - 7- UNK. ( P1-t acj t api user) [ SS_TEL_OPEN_LOG CAL_CHANNEL:

8501] [cue_cti port1]

Request : set RTPPar ans( CiscoRTPParams192.168.105.224/16384)

12: 46: 00. 537 % TAPI - PROTOCOL- 7- UNK. ( P1-192. 168. 100. 10) [ SS_TEL_OPEN_
LOG CAL_CHANNEL: 8501] sending:

com ci sco. cti.protocol . DeviceSetRTPForCallRequest {

callLegID = 25626133
ipAddress = -529946432
rtpPortNumber = 16384

}

12: 46: 00. 540 % TAPI - PROTOCOL- 7- UNK. ( P1-192. 168. 100. 10) received Response

com ci sco. cti.protocol . DeviceSetRTPForCallResponse {

result =0

}

12: 46: 00. 591 % TAPI - PROTOCOL- 7- UNK. ( P1-192. 168. 100. 10) received Event:
com ci sco. cti.protocol. StartReceptionEvent {

cal | Legl D = 25626133

i pAddr = -529946432

rtpPort Nunber = 16384

conpressi onType = 4

}

12: 46: 00. 596 % TAPI - PROTOCOL- 7- UNK. ( P1-192. 168. 100. 10) received Event:
com ci sco. cti.protocol . StartTransmissionEvent {

cal | Legl D = 25626133

i pAddr = -1167415104

rt pPort Nunber = 22668

conpressi onType = 4

}
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StopReceptionEvent

StopTransmissionEvent

CallStateChangedEvent (state = 1)

12: 46: 09. 438 %TAPI - PROTOCOL- 7- UNK. ( P1-192. 168. 100. 10) received Event:
com ci sco. cti.protocol . StopReceptionEvent {

cal | Legl D = 25626133

}

12: 46: 09. 438 %TAPI - PROTOCOL- 7- UNK. ( P1-192. 168. 100. 10) received Event:
com ci sco. cti.protocol . StopTransmissionEvent {

cal | Legl D = 25626133

}

12: 46: 09. 441 %TAPI - PROTOCOL- 7- UNK. ( P1-192. 168. 100. 10) received Event:
com ci sco. cti.protocol.callstateChangedEvent {

callLegID = 25626133

state = 1

cause = 16

12: 46: 09. 443 %TAPI - CTl - 7- UNK. (P1-tacj tapi user){Line:cue_ctiport1l: 8501:
cue_pt.(1,24)|Cal | : [ GCl D=(9040/ 1), Cl D=25626133]} Cal | St at eChanged

[ state=IDLE cause=NORMALCALLCLEARING]
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12: 46: 02. 714 CST %W TAPI - JTAPI - 7- UNK. (P1-t acj t api user) [ Thread-88] [ 8501: cue_pt]
Request :

set MessageWaiting ( 3001,true )

12:46: 02. 714 CST % TAPI - PROTOCOL- 7- UNK. (P1-192. 168. 100. 10) [ Thr ead- 88]
sending: com ci sco. cti.protocol . LineSetMessageWaitingRequest {
sequenceNunber = 57

lineName = 3001

lampMode = 2

}

12:46: 02. 718 CST % TAPI - PROTOCOL- 7- UNK. (P1-192. 168. 100. 10) received
Response: com ci sco. cti.protocol . LineSetMessageWaitingResponse {
sequenceNunber = 57

result =0

}
ALME I HIAIX[E AfA|st7] @{s T8 74 DTMF & '3

12:55:52. 145 CST %TAPI - PROTOCOL- 7- UNK. (P1-192. 168. 100. 10) received Event:
com ci sco. cti.protocol . DtmfEvent {

event Sequence = 70

call Legl D = 2562616

digit =3
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}
12: 55:52. 145 CST %TAPI - CTI | MPL- 7- UNK. (P1-192. 168. 100. 10) Event Thread handl i ng

event com cisco.cti.protocol.DtnfEvent[70]

12: 55:52. 146 CST %WTAPI - CTl - 7- UNK. () {Li ne: cue_ctiportl:8501:cue_pt.(1,64)|Call:
[ GCl D=(9047/ 1), Cl D=25626160] }

DTMF [di git=3]

CUE &|M 300101 CHaH MwI & =& S L|C}

12: 55: 52. 209 CST % TAPI - JTAPI - 7- UNK. (P1-t acj t api user) [ Thread-86] [ 8501: cue_pt]
Request: set MessageWaiting ( 3001, fal se )

12:55:52. 209 CST %TAPI - PROTOCOL- 7- UNK. (P1-192. 168. 100. 10) [ Thr ead-86] sending:
com ci sco. cti.protocol . LineSetMessageWaitingRequest {

sequenceNunber = 62

lineName = 3001

lampMode = 1

}

12:55:52. 212 CST %TAPI - PROTOCOL- 7- UNK. (P1-192. 168. 100. 10) received Response:
com ci sco. cti.protocol . LineSetMessageWaitingResponse {

sequenceNunber = 62

result =0

}
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12: 46: 00. 425 ACCN TELS 0 assigned STANDARD- wor ker -8

12: 46: 00. 425 ACCN TELS 0 Route Connecti on=[8000: cue_pt/(Pl-tacjtapiuser) CCl D=
(1, 9040) - >ACTI VE] - >CFFERED, reason=1...

12: 46: 00. 426 ACCN TELS 0 Call.received() JTAPI Call Contact[id=7,type=C sco JTAPI
Cal | ,inpl1d=9040/ 1, active=true, state=CALL_RECEIVED, inbound=true...

12: 46: 00. 429 ACCN TELS 0 Route Connection: [8000: cue_pt/(P1l-tacjtapiuser)
GCl D=( 1, 9040) - >ACTI VE] - >OFFERED, CTI Port sel ected: TP[id=0,inpl|d=8501,

st at e=l N_USE]

12: 46: 00. 429 ACCN TELS 0 Rout eCal | Qoserver. callChangedEvent: redirecting to
8501, css=default

12: 46: 00. 480 ACCN TELS 0 Cal | . associ ated() JTAPI Cal | Contact[i d=7,type=C sco
JTAPI Call,inplld=9040/1, active=true, st at e=CALL_RECEIVED,

12: 46: 00. 480 ACCN TELS 0 Route Connection: [8000: cue_pt/(P1l-tacjtapiuser)
GCl D=( 1, 9040) - >ACTI VE] - >OFFERED has 1 current sessions active.

12:46: 00.484 ACCN TELS 0 CallID: 7, MedialD: 9040/1 Call Ctl ConnCx f er edEv
received for CTI Port: 8501, lastRedirectedAddress: 8000

12: 46: 00. 490 ACCN TELS 0 assi gned STANDARD- wor ker -9

12: 46: 00. 490 ACCN TELS 0 Route TR num=8000], event=(Pl-tacjtapiuser) 9040/1
Cal | ¢t | ConnDi sconnect edEv 8000: cue_pt [#108] Cause: 100 Cal |l Ctl Cause: 0

Ci scoCause: 0 Ci scoFeat ureReason: 6, cause=CAUSE_NORMAL[ 100],

met a=META_CALL_REMOVI NG_PARTY[ 131]

12: 46: 00. 499 ACCN TELS 0 CallID: 7, MedialD: 9040/ 1 Accepting call for CTI
Rout e Point: 8000 on CTI Port: 8501, ciscoCause=31

12: 46: 00. 501 ACCN TELS 0 Cal | .accepted() JTAPI Call Contact[id=7,type=C sco
JTAPI Call,inpl|d=9040/1, active=true, state=CALL_RECEIVED...

12: 46: 00. 501 ACCN TELS 0 Cal I I D: 7 Medi al d: 9040/ 1, Term nal Connection to
Terminal: cue_ctiportl is RING NG [8501:cue_pt/(P1l-tacjtapiuser)

GCl D=( 1, 9040) - >ACTI VE] - >ALERTING

12: 46: 00. 504 ACCN TELS 0 Cal I I D: 7 Medi al d: 9040/ 1 com ci sco.jtapi.



Ci scoTerm nServi ceEvl npl received

12: 46: 00. 504 ACCN TELS 0 TR num=8000] Get TriggerMap[] return:

{secondar yDi al ogG oup=0, pri maryD al ogG oup=0}

12: 46: 00. 513 ACCN TELS O Call.attributed() JTAPICall Contact[id=7,type=C sco
JTAPI Call,inplld=9040/1, active=true, stat e=CALL_RECEI VED, . . .

12: 46: 00. 513 ACCN TELS O Cal I I D: 7 Medi al d: 9040/ 1 Task: 41000000008 associ at ed
with Task I D: 41000000008

12: 46: 00. 533 ACCN TELS O Cal I I D: 7 Medi al d: 9040/ 1 Task: 41000000008,
TerminalConnection to Terminal:cue_ctiportl is ACTIVE

12: 46: 00. 534 ACCN TELS 0 Cal | . answered() JTAPI Cal | Contact[id=7,type=

Cisco JTAPI Call,inpll1d=9040/1, acti ve=true, state=CALL_ANSWERED, ...

12: 46: 00. 536 ACCN TELS O Cal I I D: 7 Medi al d: 9040/ 1 Task: 41000000008

com ci sco. jtapi .G scoMedi aOpenLogi cal Channel Evl npl recei ved

12: 46: 00. 593 ACCN TELS O Cal I I D: 7 Medi al d: 9040/ 1 Task: 41000000008

com ci sco. jtapi.CiscoRTPInputStartedEvImpl received

12: 46: 00. 597 ACCN TELS O Cal I 1 D: 7 Medi al d: 9040/ 1 Task: 41000000008

com ci Sco. jtapi . CiscoRTPOutputStartedEvImpl recei ved

&2 AE sliA|

12:46:09. 442 ACCN TELS O Cal I I D: 7 Medi al d: 9040/ 1 Task: 41000000008

com ci sco. jtapi . CiscoRTPInputStoppedEvImpl received

12:46:09. 443 ACCN TELS O Cal I I D: 7 Medi al d: 9040/ 1 Task: 41000000008

com ci sco. j tapi . CiscoRTPOutputStoppedEvImpl recei ved

12:46:09. 447 ACCN TELS O Cal I I D: 7 Medi al d: 9040/ 1 Task: 41000000008

get s TermConnDroppedEv, meta code:132, cause code:100

12:46:09. 447 ACCN TELS O Cal I I D: 7 Medi al d: 9040/ 1 Task: 41000000008,

Ter mi nal Connection to Terminal: cue_ctiportl is DROPPED, 9040/1

12:46:09. 448 ACCN TELS O Cal I I D: 7 Mediald:9040/1 is renoved fromcall session
mappi ng i n Sessi on[i d=0x60db88402, parent =nul | , acti ve=true, st at e=SESSI ON_| N_USE,
ti me=1354733160426], result:true

12: 46: 09. 466 ACCN TELS 0 Cal | . abandoned() JTAPI Cal | Contact[id=7,type=Ci sco
JTAPI Call,inplld=9040/1, acti ve=f al se, state=CALL_DISCONNECTED, ...

12:46:09. 466 ACCN TELS O Cal I I D: 7 Medi al d: 9040/ 1 Task: 41000000008, rel eased TP
[type=Cisco CTI Port,id=0,inplld=8501, acti ve=fal se, state=I DLE] from 8000, and
rel easi ng udpPort 16384

12:46:09. 467 ACCN TELS O Cal I I D: 7 Medi al d: 9040/ 1 Task: 41000000008

com ci sco. jtapi. TermObservati onEndedEvl npl received

2 sHa Atell AT
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CUE# show log name CiscoJtapil.log tail

Il or show log name CiscoJdtapi2.log tail

456: 13:20:28.331 CDT %TAPI-M SC- 7- UNK. (P20-) started prel oadi ng cl asses
457: 13:20:28.331 CDT %WTAPI - M SC- 7- UNK. (P20-) finished prel oadi ng cl asses
461: 13:20:28.331 CDT %TAPI - CTl -7- UNK. (P20-) Event Thread queue size
threshold is 25

462: 13:20:28.331 CDT %TAPI-CTIl-7-UNK. (P20-) Provider retry interval is set
to 30 seconds

463: 13:20:28.331 CDT %WTAPI-CTIl-7-UNK. (P20-) dient desired server heartbeat
time is set to 30 seconds

464: 13:20:28.331 CDT %WTAPI -CTl -7- UNK. (P20-) CTI request timeout is is set to
30 seconds

465: 13:20:28.331 CDT %TAPI - CTl -7-UNK. (P20-) Provider open request tineout



is set to 200 seconds

467: 13:20:28.331 CDT %TAPI - CTIl -7-UNK. (P20-) Provider Reconnect attenpts is
set to 0O

468: 13:20:28.331 CDT %TAPI - CTI - 7- UNK. (P20-) JAVA Socket Connect Tineout is
set to 15 seconds

469: 13:20:28.332 CDT %TAPI - CTI | MPL- 7- UNK. (P20-) Provider.info(CCVEncryption:
sencrypt Password was successful)

471: 13:20:28.334 CDT %TAPI -JTAPI | MPL-7- UNK. Provi derlnpl (): calling

jtapi Properties. get SecurityPropertyForlnstance()

472: 13:20:28.334 CDT %TAPI - JTAPI | MPL- 7- UNK. (P20-t acj t api user ) TraceMdul e:
JTAPI version Cisco Jtapi version 7.0(1.1000)-1 Rel ease

473: 13:20:28.334 CDT %WTAPI - JTAPI | MPL- 7- UNK. (P20-t acj t api user ) Route Sel ect
Ti meout is 5000 nsecs

474: 13:20:28.335 CDT %TAPI - JTAPI | MPL- 7- UNK. (P20-t acj t api user ) Jtapi post
condition tineout is set to 15 seconds

476: 13:20:28.335 CDT %TAPI - CTI | MPL- 7- UNK. (P20-t acj t api user ) Opening server
"192.168.100.10" login "tacjtapiuser "

477: 13:20:28.335 CDT %TAPI - CTI | MPL- 7- UNK. (P20-t acjtapiuser ) ProviderlD =
P20-tacjtapi user 478: 13:20:28.337 CDT %WTAPI - CTl | MPL- 7- UNK. ( P20-t acj t api user )
Trying to create normal socket connection to 192.168.100.10

479: 13:20: 38.338 CDT %WTAPI - JTAPI - 7- UNK: [ Def aul t Jt api Peer] Pl at f or nExcepti onl npl
caught :

Unable to create provider --
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CUE# show trace buffer tail

Press CTRL-C to exit...

140053. 173 ACCN TELS O TAPI Port G oup Leavi ng get ActiveCCM ), retval null
140123. 184 ACCN TELS O TAPI Port G oup Enter getActiveCCM)

140123. 184 ACCN TELS O TAPI Port G- oup get Acti veCCM ) subsystenstate3
140123. 184 ACCN TELS O TAPI Port Group get Acti veCCM ) subsystemJTAPI is not
inservice or partial service

140123. 184 ACCN TELS 0 TAPI Port G oup Leavi ng get ActiveCCM ), retval null

atrace.log

14:12:18. 681 ACCN TELS 0 JTAPI _PROVI DER _EVENT: JTAPI Provider state is changed:
JTAPI provider nane=192.168. 100. 10, Event =Pr ovShut downEv recei ved

14:12:18. 682 ACCN TELS 0 SS LOG N: JTAPI Login String: Mdul e=JTAPI Subsystem
JTAPI 1ogin string=192.168. 100. 10; login=tacjtapiuser ;jpasswd=**** appi nf o=
Cisco IPIVR

14:12:18.682 ACCN TELS 0 PROVI DER_CLEANUP: Cl eani ng up JTAPI provider:

Modul e=JTAPI Subsystem JTAPI provi der name=192. 168. 100. 10

14:12:18. 682 ACCN TELS 0 TAPI Port Group 1 getNunPorts() for Cisco CTl Port = 2
14:12:18.682 ACCN TELS 0 TPJ i d=1, st at e=PARTI AL_SERVI CE] renoveRoute() -

TR nunm=9500]

14:12:18. 682 ACCN TELS 0 TPE i d=1, st at e=PARTI AL_SERVI CE] renpveRoute() -

TR num=9000]

14:12:18. 682 ACCN TELS 0 MM Address.clear: [addrStr=, addr=null, inService=false,

i sRegi st ered=f al se]
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14:12: 18. 682 ACCN TELS 0 Mm Address. unregi ster: [addrStr=, addr=null,

i nServi ce=fal se, isRegistered=false]

14:12:18. 682 ACCN TELS 0 TAPI Port Group 1 getNunPorts() for Cisco CTl Port =0
14:12:18. 682 ACCN TELS 0 Number of CTlI ports =0

14:12:18. 682 ACCN TELS 0 cal cul at eSubsyst enfst at e

14:12:18.682 ACCN TELS 0 TPJ i d=1, st at e=PARTI AL_SERVI CE] Triggers: 1SV = 0,
O0Ss = 0, PARTIAL =0

14:12:18. 682 ACCN TELS 0 TAPI Port Group 1 getNunPorts() for Cisco CTl Port =0
14:12: 18. 682 ACCN TELS 0 cal cul at eSubsystenfstate -> Goups: ISV = 0, OOS = 0,
PARTI AL/ OTHERS = 1

14:12:18.682 ACCN TELS 0 cal cul at eSubsystenftState -> Triggers: ENABLED = O,

DI SABLED = 2, CONFIG ERR = 0

14:12: 18. 682 ACCN TELS 0 cal cul at eSubsystenfstate -> subsystem partial in
servi ce, unchanged cause:

A nunber of route points are OOS - TR num=9000], TR num=9500]; A nunber of

CTl ports are OOS - TP i d=1, st at e=PARTI AL_SERVI CE] . Por t s[ 9590]

14:12:18. 689 ACCN TELS 0 SS_PARTI AL_SERVI CE: JTAPI subsystemin partial service:
Failure reason=A number of route points are 00S - TR hum=9000], TR nun¥9500];
A nunber of CTI ports are OOS - TPH i d=1, st at e=PARTI AL_SERVI CE] . Port s[ 9590]
14:12:18. 689 ACCN TELS 0 GET_NEW PROVI DER Attenpt to get JTAPI provider

14:12: 18. 693 ACCN TELS 0 Cal | i ng updat eJTAPI Package: 192.168. 100. 10

Modul e=JTAPI _PROVI DER_| NI T, Except i on=com ci sco. j tapi . Pl at f or nExcepti onl npl :
Unable to create provider

-- bad login or password.

14:12:18. 828 ACCN TELS 0 EXCEPTI ON: com ci sco. jtapi. Pl atfornExceptionl npl :
Unable to create provider

-- bad login or password.

CiscodJtapi1.log / CiscoJtapi2.log

6318: 14:22:26.653 CDT %TAPI - CTI | MPL- 7- UNK. ( P62-t acj t api user ) Trying to
create normal socket connection to 192.168.100.10

6319: 14:22:26.654 CDT %TAPI - CTI | MPL-7- UNK. (P62-t acj t api user ) connected
6321: 14:22:26.654 CDT %TAPI - PROTOCOL- 7- UNK. (P62-192. 168. 100. 10)
[SS_TEL_REINIT] sending: com cisco. cti.protocol.ProviderOpenRequest {
provi der = 192.168. 100. 10

gheC ientVersion = Cisco JTAPI 7.0(1.1000)-1 Rel ease

login = comcisco.cti.protocol.UnicodeString {

uni codedi spl ayNane = tacjtapiuser

}

filter = comcisco.cti.protocol.ProviderEventFilter {

devi ceRegi stered = true

devi ceUnregi stered = true

desi redServer Heart beat Time = 30

}

6331: 14:22:26.781 CDT %TAPI - PROTOCOL- 7- UNK( P62- 192. 168. 100. 10)
received Event: com cisco.cti.protocol.ProviderOpenCompletedEvent {
event Sequence = 251

reason = -1932787616

providerlinfoString = 7.1.2.21900-5

failureDescription = Directory login failed - authentication failed.
providerld = 16777255

}

6333: 14:22:26.781 CDT %TAPI - PROTOCOL- 7- UNK. (P62-192. 168. 100. 10)
received Event: com ci sco.cti.protocol.ProviderClosedEvent {

event Sequence = 252

reason = 4

}

6338: 14:22:26.781 CDT %TAPI - PROTOCOL- 7- UNK. (P62-192. 168. 100. 10)
Received Provi der Cl osedEvent

6339: 14:22:26.781 CDT %TAPI - PROTOCOL- 7- UNK. (P62-192. 168. 100. 10)
received Event: com ci sco.cti.protocol.ProviderOutOofServiceEvent {
event Sequence = 253



PROVIDER_OUT_ OF_SERVICE_EVENT = 200

}
6343: 14:22:26.782 CDT %TAPI - JTAPI - 7- UNK: [ Def aul t Jt api Peer]]
Pl at f or nExcepti onl npl caught: Unable to create provider -- bad login or password.

6344: 14:22:26.881 CDT %WTAPI - CTI | MPL- 7- UNK. (P62- 192. 168. 100. 10) Recei veThr ead:
caught java. net. Socket Exception: The socket was closed
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CiscoJtapi1.log / CiscoJtapi2.log

11590: 14: 41: 08. 768 CDT % TAPI - PROTOCOL- 7- UNK. ( P115-192. 168. 100. 10)
[ Provi der RetryThread] sending:

com ci sco. cti.protocol . ProviderOpenRequest {

provider = 192.168.100.10

gbeC ientVersion = Cisco JTAPI 7.0(1.1000)-1 Rel ease

login = comcisco.cti.protocol. UnicodeString {

uni codedi spl ayNane = tacjtapiuser

}

applicationlID = Gisco IP IVR

desi redServer Heart beat Tine = 30

requestTiner = 0

cmAssi gnedApplicationlD = 0

pl ugi nNamre = G scoJTAPI

}

11593: 14:41:08. 770 CDT % TAPI - PROTOCOL- 7- UNK. ( P115-192. 168. 100. 10)
received Response: com cisco. cti.protocol.ProviderOpenResponse {
sequenceNunber = 117

result =0

providerlnfoString = 7.1.2.21900-5

clientHeartbeat = 30

server Heartbeat = 30

requestTiner = 5

pl ugi nVersion = 7.1.2.10000-5

pl ugi nLocation = http://192. 168. 100. 10/ pl ugi ns/

providerld = 16777220

}

11600: 14:41:08.899 CDT % TAPI - PROTOCOL- 7- UNK. ( P115-192. 168. 100. 10)
received Event: com cisco. cti.protocol.ProviderOpenCompletedEvent {
event Sequence = 461

reason = -1932787617

sequenceNunber = 117

failureDescription = Directory login failed - User not present in Standard
CTI Users group.

providerld = 16777220

}

11608: 14: 41: 08. 900 CDT % TAPI - PROTOCOL- 7- UNK. ( P115-192. 168. 100. 10)
received Event:

com ci sco. cti.protocol . ProviderOutOfServiceEvent {

eventSequence = 463
PROVIDER OUT OF_SERVICE_EVENT = 200
}

CUCM CTI Manager MH|A7} CI2 =& LICH
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18956: 16:25:45.516 CDT %JTAPI - CTI | MPL- 7- UNK. ( P200-) Provi der.

i nfo( CCMENcryption::encrypt Password was successful)

18957: 16: 25:45.516 CDT % TAPI - CTI | MPL- 7- UNK. (P200-) application did
not set appinfo, creating default

18958: 16:25:45.516 CDT % TAPI - JTAPI | MPL- 7- UNK. Providerlnpl (): calling
jtapi Properties. getSecurityPropertyForlnstance()

18959: 16:25:45.516 CDT % TAPI - JTAPI | MPL- 7- UNK. ( P200-t acj t api user )
TraceModul e: JTAPI version Cisco Jtapi version 7.0(1.1000)-1 Rel ease
18960: 16:25:45.516 CDT % TAPI - JTAPI | MPL- 7- UNK. ( P200-t acj t api user )
Route Sel ect Tineout is 5000 nsecs

18961: 16:25:45.516 CDT %TAPI - JTAPI | MPL- 7- UNK. ( P200-t acj t api user )
Jtapi post condition tineout is set

to 15 seconds

18962: 16:25:45.516 CDT % TAPI - JTAPI | MPL- 7- UNK. ( P200-t acj t api user )

I gnor eFwdDest i nati on

set to fal se

18963: 16:25:45.516 CDT %JTAPI - CTI | MPL- 7- UNK. ( P200- t acj t api user )
Qpeni ng server "192.168.100. 10" login "tacjtapiuser

18964: 16:25:45.516 CDT % TAPI - CTI | MPL- 7- UNK. ( P200- t acj t api user )
Provi der1 D = P200-t acj t api user

18965: 16:25:45.517 CDT %JTAPI - CTI | MPL- 7- UNK. ( P200- t acj t api user )
Trying to create normal socket connection to 192.168.100.10

18966: 16:25:45.518 CDT % TAPI - JTAPI - 7- UNK: [ Def aul t Jt api Peer]

Pl at f or nExcepti onl npl caught:

Unable to create provider -- 192.168.100.10/192.168.100.10:2748 -
Connection refused
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13:27:58.864 CST %TAPI - PROTOCOL- 7- UNK. (P1-192. 168. 100. 10) received Response:
com ci sco. cti . protocol . GetDeviceInfoFetchResponse {

com ci sco. cti.protocol.Devicelnfo {

nane = cue_vmctirp

}

13:27:58. 960 CST % TAPI - PROTOCOL- 7- UNK. (P1-192. 168. 100. 10) [SS _TEL_I NI T]
sending: com Ci Sco. cti.protocol . DeviceGetLineInfoRequest {

devi ceNane = cue_vmctirp

}

13:27:58.962 CST %TAPI - PROTOCOL- 7- UNK. (P1-192. 168. 100. 10) [SS _TEL_I NI T]
sending: com ci sco. cti.protocol . GetLi nel nf oFet chRequest

13:27:58.964 CST %TAPI - PROTOCOL- 7- UNK. (P1-192. 168. 100. 10) received Response:
com ci sco. cti.protocol . GetLineInfoFetchResponse{

name = 8000

}

13: 27: 58. 966 CST % TAPI - CTl - 7- UNK( P1-t acj t api user) Devi ceMap: addi ng device
"cue_vmctirp"

13:27:59. 427 CST %UTAPI - JTAPI - 7- UNK: InvalidArgumentExceptionImpl caught:
Address 9999 is not in provider's domain.



F:EE|7{ 99997} CUENIM EHE FHE B0 CUCMAUM 2 SZA EHRlel Y
Bt otL2z SSXIX| ef&LCH

CUEE A% 80004 & PLICt NS 718te| =Helol| Z&rE

13: 28: 00. 953 CST % TAPI - PROTOCOL- 7- UNK. ( P1-192. 168. 100. 10) [SS_ TEL_INT]
sending: com Ci Sco. cti.protocol . DeviceOpenRequest {

devi ceName = cue_vmctirp

13:28: 00. 979 CST % TAPI - PROTOCOL- 7- UNK. ( P1-192. 168. 100. 10) [SS_TEL_INT]
sending: com ci sco. cti.protocol . LineOpenRequest {

devi ceName = cue_vmctirp

i neNane = 8000

13: 28: 00. 983 CST %WTAPI - JTAPI | MPL- 7- UNK: cue_vm ctirp: Lines opened

13: 28: 00. 997 CST % TAPI - PROTOCOL- 7- UNK. ( P1-192. 168. 100. 10) [SS_TEL_INT]
sending: com ci sco. cti.protocol . DeviceRegisterDeviceRequest

devi ceName = cue_vmctirp

13:28: 01. 000 CST % TAPI - CTl - 7- UNK. (P1-tacj tapi user) DeviceMap: opening device
"cue_vm_ctirp"

13:28: 01. 001 CST % TAPI - PROTOCOL- 7- UNK. ( P1-192. 168. 100. 10) [SS_TEL_INT]
sending: com ci sco. cti.protocol . LineOpenRequest {

i neNane = 8000

13:28: 01. 012 CST %WTAPI - JTAPI | MPL- 7- UNK: cue_vm ctirp: Lines opened
13:28: 01. 164 CST % TAPI - PROTOCOL- 7- UNK. ( P1-192. 168. 100. 10) received Event:
com ci sco. cti . protocol . DeviceRegisteredEvent {

13:28: 01. 165 CST %TAPI - PROTOCOL- 7- UNK. ( P1-192. 168. 100. 10) received Event:
com ci sco. cti.protocol . DeviceInServiceEvent {

13:28: 01. 166 CST % TAPI - PROTOCOL- 7- UNK. ( P1-192. 168. 100. 10) received Event:
com ci sco. cti.protocol . LineInServiceEvent {

13:28: 01. 168 CST %TAPI - JTAPI | MPL- 7- UNK. (P1-t acj t api user) Terminal
"cue_vm_ctirp" in service
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12:56: 01. 392 CST % TAPI - PROTOCOL- 7- UNK. (P1-192. 168. 100. 10) received
Event: com cisco.cti.protocol . NewCallEvent {

devi ceName = cue_vmctirp

cal | Legl D = 25626135

call I D = 9041

callingParty = 3001

calledParty = 8000

original Call edParty state = 2

}

12:56: 01. 404 CST % TAPI - PROTOCOL- 7- UNK. (P1-192. 168. 100. 10)

[ SS TEL_ROQUTE_CALL_EV] sending: com ci sco.cti.protocol.CallRedirectRequest {
cal | Legl D = 25626135

redirectAddress = 8501

}

12:56: 01. 397 CST %TAPI - PROTOCOL- 7- UNK. (P1-192. 168. 100. 10) received
Event: com cisco.cti.protocol.callStateChangedEvent {

cal | Legl D = 25626135

state = 2

}



12:56: 01. 450 CST % TAPI - PROTOCOL- 7- UNK. (P1-192. 168. 100. 10) received
Response: com ci sco. cti.protocol.FailureResponse {

result = -1932787660
description = redirect failure
}

12: 56: 01. 450 CST % TAPI - JTAPI - 7- UNK: [ [ 8000: cue_pt/ (P1-tacjt api user)

GCl D=( 1, 9041) - >ACTI VE] - >OFFERED] | nval i dPart yExcepti onl npl caught:

Request failed because of an invalid destination.

12: 56: 05. 456 CST % TAPI - PROTOCOL- 7- UNK. (P1-192. 168. 100. 10) received
Event: com cisco.cti.protocol.callStateChangedEvent {

cal | Legl D = 25626135

state = 1

cause = 17

}

12: 56: 05. 456 CST % TAPI - CTl - 7- UNK. ( P1-t acj t api user) {Li ne: cue_vm ctirp:
8000: cue_pt . (1,28)|Call:[CCl D=(9041/1), Cl D=25626135] } callStateChanged

[ state=IDLE cause=USERBUSY]

12: 56: 05. 457 CST % TAPI - CTl - 7- UNK: { ALL EXTERNAL ADDRESSES| Cal | (P1-t acj t api user)
GCl D=( 1, 9041) - >ACTI VE} Ext ernal Cal | St at eChanged

[ state=IDLE cause=17 processEvent = reason =1 ]

12: 56: 05. 457 CST % TAPI - JTAPI - 7- UNK. (P1-t acj t api user) 9041/1 ConnDi sconnect edEv
3001: cue_pt [#160]

Cause:17 Cal |l Ct| Cause: 0 Ci scoCause: 17 Ci scoFeat ureReason: 12

12: 56: 05. 457 CST % TAPI - JTAPI - 7- UNK. (P1-t acj t api user) [ (P1-192. 168. 100. 10)
Event Thr ead] [ SEP0023331C29EC] Request: get Cal lingTerm nal ()

12: 56: 05. 457 CST % TAPI - JTAPI - 7- UNK. (P1-t acj tapi user) 9041/1

Cal | &t | ConnDi sconnect edEv 3001: cue_pt [#161] Cause: 17 Call Ctl Cause: 0

Ci scoCause: 17 Ci scoFeat ur eReason: 12= 8000
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2551 11:45:17.178 LLMA LAPI O LI ama: get MaxVimPort Count () :

2547 11:45:17.178 LLMA LVMP O LI amaVnPort Query: get(): maxCount

2551 11:45:17.178 LLMA LSDB O Ll ama: get MaxVmPort Count (): Ll amaSysdbUser ():
getint(): Getting int /sw apps/limtsMnager/vnPort/query/ maxCount returns 0O
2551 11:45:17.178 LLMA LAPI O Ll ama: get MaxVimPort Count (): count: O

2551 11:45:17.178 WFSP JTRG 0 WSysdbNdJt api Tr g: : get MaxSessi ons for trigger
for app: voicemail O

2551 11:45:17.178 WFSP JTRG 0 WFSysdbNdJt api Trg: : commit warning session
value exceeded license max

2551 11:45:17.181 WFSP JTRG 0 com ci sco. aesop. sysdb. xact SysdbExcepti on:
Sessi on val ue exceeds license limt

2551 11:45:19.654 LLMA LVMM O LI amaVmvbxQuery: get(): licenseStatus

2575 11:45:19.654 LLMA LSDB O Ll ama: showoi cenmil (): Ll amaSysdbUser ():
getInt(): Getting int /sw apps/limtsMinager/vnivbox/ query/licenseStatus returns 2
2575 11:45:19.657 LLMA LLMI O voi cenmmi |l disabl ed, voicemail mailbox
activation count has been set to zero

3456 11:45:23.114 LLMA LAPI O LI ama: get MaxPort Count ():

2555 11:45:23.114 LLMA LPRT O LI amaPort Query: get(): maxCount

3456 11:45:23.115 LLMA LSDB O Ll ama: get MaxPort Count (): LI amaSysdbUser():
getInt(): Getting int/sw apps/limtsManager/port/query/ maxCount returns 0O
3456 11:45:23.115 LLMA LAPI O Ll ama: get MaxPort Count(): count: O

3456 11:45:28.727 ACCN TELS 0 CueCi scoCal | : get Maj orVer () jtapi version=
7.0(1.1000)-1 maj or Ver =7

3456 11:45:28.785 ACCN TELS 0 JTAPI Login Str:

192. 168. 100. 10; | ogi n=tacjtapiuser ; passwd=****;appi nfo=Ci sco |P | VR

3456 11:45:28.785 ACCN TELS 0 Actual Login Str:



192. 168. 100. 10; | ogi n=t acj t api user ; passwd=ci sco; appi nfo=Ci sco | P I VR

3477 11:45:31.330 ACCN TELS 0 Got JTAPI provider: Cisco Jtapi version
7.0(1.1000)-1 Rel ease

3621 11:45:31.338 ACCN TELS 0 JTAPI_PROVIDER EVENT:JTAPI Provider

state is changed: JTAPI provider name=192.168.100.10,Event=
ProvOutOfServiceEv received

3621 11:45:31.352 ACCN TELS 0 JTAPI _PROVI DER EVENT: JTAPI Provider state

is changed: JTAPI provider name=192.168. 100. 10, Event =Pr ovl nSer vi ceEv recei ved
3621 11:45:31.353 ACCN ATJT 0 checkConnectivity:

url String: http://192.168. 100. 10/ CCWPI ugi nsServer/ C scoJTAPI O i ent . exe

3477 11:45:34.130 ACCN TELS 0 SS_OUT_OF_SERVI CE: JTAPI subsystem in

out of service: Failure reason=A number of route points are 00S; A number of
CTI ports are 00S - all ports in TPG

3751 11:45:48.558 ACCN TELS O TAPI Port Group: getActiveCCM) subsystemJTAPI
is not in service or partial service
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